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1. Use radical notation to rewrite each expression. Simplify if possible.
1
(—32)s =
1
(xy)s =
3
252 =

2. Rewrite each expression with rational exponents.

V17 = ot = (V13:77) =

3. Rewrite each expression with a positive rational exponent. Simplify if possible.

1 _*
125 3 = 32 5 =

1

2
7xz « = Bxy) 3 =

4. Simplify (assume all variables represent positive numbers).
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5. Simplify (assume all variables represent positive numbers). Write answers in radical notation.

(¥7)° =

5
I

Q: What is harder to catch the faster you run?



